F—L% xE K4 %5 FEiw X9 BIE
INADOITATUR FikE LA M- 5 34 30 3,000
INADITASUR g2ikE S Eth 5 40 40 3,000
AWV TASUR gaka Big B B8 47 40 3,000

[aLEN Fsappaye BanE B i ® 3 30 3000
INADOINTATUR $5ikE SRk EXR z 33 30 3,000
INADDIVTASUR geikE Il BN 5 35 30 3,000
F—LAo3y E1kE @Il W= B 50 50 3,000
F—LArOo3y gokE A 1§ B 54 50 2,000
F—LAo3y #3ikE A% E=F z 51 50 2,150

1-2 F—LAro3y FakEd HO EE 5 47 40 3,000
F—LAOo3y E5ikE B EHE z 57 50 2,750
F—L/Ara3y geikE Y FHE z 54 50 3,000
JR/NEER g1kE FH A B8 52 50 3,000
aX/NEER g2ikE KE BEXR Z 27 20 2,000
JRNER E3kE B BAE 8 46 40 3,400

2-1 aR/NER F4ikE BIL R 5 46 40 3,000
JRNER EokE R Bth 8 25 20 4,000
aR/NER geikE LEF KX 5 34 30 3,500
Verde F1kE PF HLEY z 69 60 3,000
Verde goikE FE & B 68 60 3,000
Verde E3kE BT MF z 55 50 3,000

22 Verde gakE EAK thF z 44 40 3,000
Verde $5ikE FH B 5 34 30 3,300
Verde goikE T Eth B 34 30 3,300
F—LIJLTRk $1kE KA B— 5 50 50 3,300
F—LIJLTRF FovkE FEE AR B 50 50 3,500
F—LIJ IRk E3kE EAR Ef 8 45 40 3,300

3-1 F—LIJLITRF gaikE Hh 3 B 47 40 4,100
F—LIJ IRk g5ikE AL EB 8 48 40 3,500
F—LIJLITRF gk tEH RE B 44 40 3,700
FIThEXR $1kE KfE =8 z 49 40 4,000
FIZh ks $2ikE BAR RETF z 45 40 3,500
FIThEXR g3kE BEFt BEE z 44 40 3,900

372 FIZh ks $4ikE BIF MEE £°3 69 60 3,000
FIThEXR geikE Bim {23 z 50 50 3,000
FIZh ks g5k FH #&F Z 50 50 3,500




J)—oH I XA g1kE FAE ¥E Z 26 20 3,500
J)—oH IO XA goikE HE FT B 69 60 3,300

41 GY—2HII) XA E3kE EH Ak 2] 63 60 3,000
J)—oy IO XA gaka B £E B8 68 60 3,000
J)—oH IO XA #5iE R BR B 59 50 3,500
J)—oH IO XA goika WME E# B8 38 30 3,500

O HE $1kE EBEF AR 5 36 30 4,000

1B HEE 2ikE BASEF £°3 36 30 3,000

4-9 1B HE #3kE 8 z 44 40 3,000
1B HEE gakE BFR EE B 71 70 2,700
BOHE #5ikE TN AE 5 47 40 3,500
BOHIE goikE HFE 1EE B 61 60 3,000
FERXAZIVT - TR—IL $1kE BH BA 5 50 50 3,000
FERXAZIVT - TR—IL g2ikE Al 181 5 " 70 2,700
BERA(ZUT - TR—)L E3ikE I — B 55 50 2,800

. FERA(ZVYT - SR—IL g4k ER BEE B 39 30 2,800
BRIV -TR—)L #5%kE MF & B8 63 60 2,900
FERA(ZIVT - TR—)L gokE EED %R £°3 31 30 3,700
BIUR E1kE GA KA 8 55 50 2,500
BIUK gokE BRl W% £°g 42 40 2,500

5 BIUR E3kE AKX RE B8 76 70 3,000
2 BIUK gakE BEE HF z 74 70 2,400
BIUR g5ikE /\H BEth 8 34 30 4,000
BIUK goika HHE FE B 46 40 4,000
J)—oyI<)0XB E1kE WE FATF £°g 66 60 3,000
J)—2H%IT<)XB gokE &% # B 69 60 2,800

1 J)—oyI<)0XB E3kE AR FX B8 75 70 2,500

0 J)—oH% I3 XB gakE HE AL ] 67 60 | 3,000
J)—oyI<)0XB g5ikE TH EE B8 70 70 2,700
J)—2H9I3)XB #o6ikE Frrh BAA 5 49 40 3,300

30000 B1kE RN FHE B8 53 50 3,100

30000 g2ikE INF BF z 68 60 2,900

30000 E3ikE AR BR 8 77 70 2,800

6-2 30000 gaikEs AL BE B 57 50 2,800
30000 EokE EA B B 61 60 2,700

30000 geikE A EHF z 62 60 3,000




